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INSTRUCTIONS TO CANDIDATES

Read the following instructions carefully before you answer the questions.
Answers are to be given on the answer-sheet, which combines both the tests:

1. Please write your Centre Code and Seat No. very clearly (only one digit in one block).
Before writing your Seat No. get it ascertained from the Centre Conductor. Please see
that no block is left unfilled and even zeros appearing in the Centre Code and Seat No.
are correctly transferred to the appropriate blocks on the booklet and on the answer-
sheet.

Example

CENTRE CODE &% Hehdish

SEAT NO. 3194 %Hl&

For all subsequent purposes your Centre Code and Seat No. shall remain the
same. Centre once allotted will not be changed.

2. All questions carry one mark each.

3. Since all questions are compulsory do not try to read through the whole question paper

before beginning to answer it.
4. Begin with the first question and keep on trying one question after another till you finish.

5. If you do not know the answer to any question, do not spend much time on it and pass
on to the next one. Time permitting you can come back to the questions which you
have left in the first instance and try them again.

6. Since the time allotted is very short you should make best use of it. The rough work is
to be done in the box given under each page.

7. Remember you have to mark on your answers in "Mental Ability Test" Section of the
answer-sheet only.

8. Answer to each question is to be indicated in the answer—sheet by endircling with black
pen in the appropriate number of alternative in the answer-sheet from amongst the ones
given for the corresponding question in the test booklet.

9. Do not write anything except Centre Code Seat No. and rough work anywhere in this
booklet. ' :

10. Now turn to the next page and start answering the questions.
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(1) AYCD (2) BXDE
(3) MNAB (4) MZBC

Uy 3-5 : godr- fadTe ug steEn

3. (1) 141 (2) 101
(3) 107 (4) 131
4. (1)6131 (2) 2191
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MENTAL ABILITY TEST

Q.1and2:  Directions— In each of the following questions write which

term in sequence replaces the question mark?

1. BJ, DL, HP, PX, ?
/6 FN (2) FX

(3) TB 44) VD

2. AYCD, EUGH, {QKL {8

as3“ g""lQ.;hn\\ {P‘\

(A¥CR_\'" °  _ (2BXDE
m (4) MZBC

Q.3and5:  Directions— Find the odd term

3. (1) 141-« Q)1 -
(3) 107« (4) 131 <
4. (16131 (2) 2191 =
(3) 3312 - (4) 3164
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5 (1) IBI-ILP . (2) FNUB

(3) BDFH (4) KVGR

6. @amm@ﬁmmmmmmwmmm
341, 572, 781
(1) 634 (2) 891

(3) 909 (4) 990

7.mnﬁﬁﬁ_mﬁam+m+,_m X, + TR + d X WIS — AR S
I T .
(200 +5)+25+(20-5)x 10="2?
(1) 125 (2) 100

(3) 155 (4) 40

.‘ é -_.'I

e t.'; RS PR o
: o KVGR |
A B ¢ o b-FESCH RN kSl 6 P@RSST Ul Y2
£ PN O FE I e w13 N T2 2 32N
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5. (1) DHLP 2 3
( . L(/)/?ﬂfB

W o
(3) BDFH " (4 KVGR
ruf ¥ Nives poet

6. In the following question a specific group of numbers is given. From the given

alternatives, find out the right number which matches the given group.
341, 572,781 3e
- i 1y ‘u "

(1) 634 ' (2) 891

(3) 909 (4) 990

7. In a mathematical language if + means +, — means x, + means + and x means

— are used then,
(200 +5)+25+(20-5)x10="?
(Y125 > (2) 100

3) 155 (4) 40

(z_oo +<) ¢+ 15‘4(101(5) -0 2

BopH A2 B
: (ao) + 25 4 (100) ~10  (40)+ 254 (“?o‘-I‘ .
s % 5.-5_ - 3o
o
8S
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Q.8and9: Directions— In each of the following questions there is a
specific relationship between the first and second figure. The
same relationship exists between the third and the fourth figure
which will replace the question mark. Select the correct term
from the given alternatives.

8 : : ﬁ

(1)

0

(2)

3)

()

% || % || %%
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10. TH FETSHS FE e B FEvE W@ @y awe sed. Ko S
qiem 7 A IR, M T Fea o, N anfor S wet Hiofel et, @ J & =fm H18

FESA 3B,

(1) K anfor M == meday
(2) N 9 A 7= BeEy
(3) SaK ar=n gumy

(4) M 3ufor A aren wumy

311}

11. vv= fa=m St S gen ¥Ea § 9w e

2 3
2%0 5 3
A 8 7;1

6

(1) 132 (2) 262

(3) 274 (4) 320
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10. Six teachers of a workshop have sat down for a photo session as shown below. A

is sitting in between K and S. M is at a corner. There is no one sitting in between

N and S. Then where is the person 'J' sitting?
(1) At the central position between K and M
(2) _At the central position between N and A
(3) At the central position between S and K.

(4) At the central position between M and A.

11. Find out the correct number from the given alternatives to replace the question

mark.
(1) 132 ~(2) 262
(3) 274 (4) 320
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12. TiET=N Sl SHET UH B TR Shell @ GEI Yt HIOI SRl A SR, d

i
o
(1) 2)
O
3) 4)
O

13. SR TH gikfas 9ma ZEAL = 11 3@ fafedt ™ <= wisfas «ms BEAT =2
(1) 7 (2) 13

(3) 14 (4) 19
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12. If the figure given along side is folded to construct a cube, find out the correct
cubical figure from the given alternative figures.

O
&

(1) (2)

O |
3) (4)

U

13. In a certain code language ZI;ZAL = 11, written then in that language BEAT = ?
24 BT

25 1120

(1) 7 (2) 13

(3) 14 - 4) 19

: %0
pr §
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14. w1 #E 1. K. L, M, N, O, P, Q, R # Tl siia fordre=ht W wew awet ad. L
71 M =0 Sseee afor N Uge Seise faen T aqeen 3R, K @ sfer=n
Yt fEa ad sueien @R, Q @ Od P =1 wedl aueien 3R, O 7 K = SHihe
forg=r T SO 3R, J =N S9EEE ot O 99l R, W Ha HeA HI0 SHel
3R ?

(L 20
(3)J @ Q

15. Hraq facieh smepdt wom wfasfead fGo 90° siommyA fetaett & f=ht smen 73
oot wfaw feeen v Ay et

(1) (2)

g -
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14. On a playground J, K, L, M, N, O, P, Q, R are sitting in one row to watch a
cricket match. L is at the right side of M and is occupying third place from N at
the right side. K is sitting either at first or last position. Q is in between O and
P. O is sitting at the third position at the left side of K. O is sitting next to 'J' at
the right side. Who is sitting at the centre among them?

()L (2) 0

OB @ Q

15. The following figure is rotated in anticlockwise direction and its mirror image

is obtained. Select the correct mirror image from four alternatives given.
fa)
) @ @

T

3)
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WU 16-17 : g~ EXPAND ¥ I1&8 WX AMATM@GAT Aianfash o
fofeen omR, @ Wighfass WET @@ 9 YA Wy fIeren
I BT WU Wighfae wa fen em M. arg uEiar

ey faet
EXPAND =
(1) FYQBOE (2) EYRDRI
(3) EPNXAD (4) DWOZMC

16. (1) SOLVE = SPNYI
17. (2) LARGE = KZQFD

o 18-19 : Gur— fawma amepet viem.

iy oy
X %)
oGy iy
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Q.16 and 17 : Directions— In a certain code language the word EXPAND has
been written in four different code languages. Understanding
the code, find out the correct code language for the word given

in each of the following questions.

EXPAND =
(1) FYQBOE (2) EYRDRI
(3) EPNXAD (4) DWOZMC

16. (1) SOLVE = SPNYI1

17. (2) LARGE = KZQFD

Q.18 and 19 : Directions— Find the odd figure out

iy w0y
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s @R o e W

20. A feetem snepdre o Fe1 on @el faareen wAE 3w 91
grEfavs gueid dihH fohdi?
(1) 16
(2) 10
3) 8
4) 14

o 21-22: GET- @ret fadear wEe figor w00 v@ew gvE
wyRtaTeT S 9 gaia frast

8
9 36 35
10 37 56 55 34
11 38 57 68 67 54 33
12 39 58 69 70 71 66 53 32
13 40 59 60 61 62 63 64 65 52 31
14 41 42 43 44 45 46 47 48 49 50 51 30
15 16 17 18 19 20 21 22 23 24 25 26 27 28 29
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19. (U}{X @) XX m}@{ @) >é><

20. Observe the adjoining figure and answer the following question. Choosing the
correct alternative.
How many isosceles trapezium are in the figure?

(1) 16
2 10
3) 8 |
@ 14 |

Q.21 and 22 : Directions— Observe the following pyramid of numerals
and decide which alternative will be in place of question

mark in each of the following question.
8
9 36 .35
10 37 56 55 34
11 38 57 68 67 54 33
12 39 58 69 70 71 66 53 32

13 40 59 60 61 62 63 64 65 52 31

14 41 42 43 44 45 46 47 48 49 50 51 30

15 16 17 18 19 20 21 22 23 24 25 26 27 28 29
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21. 95761 : 105844 :: ? : 346648
(1) 377149 (2) 353331
(3) 356763 (4) 363840

22. 95670 : 70579 :: 356766 : ?
(1) 663435 ' (2) 677063
(3) 634623 (4) 587061
WY 23-24: GOAT— ATehdld 9Ifael WHTOT TETH-TETT Srehosaisil TerT faeit

e
b
22
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21. 95761 : 105844 :: ? : 346648
(1) 377149 ~2) 353331
(3) 356763 (4) 363840

22. 95670 : 70579 :: 356766 : 2
(1) 663435 (2) 677063
(3) 634623 (4) 587061

Q.23 and 24 : Directions— In the following figure the arrangement of
small blocks is given observe it and answer the following
question.
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23. e @eM Sihodaidl Thul qe fadi?
(1) 17 (2) 24
(3) 27 (4) 30

24, <1 AdheaE ITE T fTETa oW Swe fhdt aRa?
(1) 11 (2) 13
(3) 15 4 17
W9 25-26 : G- YISt WP wilehiA faerear den Tan fafre fFamigar
oRa, @t Praw sramar @ wyRfegTen SR A wEig e

25. 1 13161 2

2-1-5 |99

10 [122] 26

(1) 49 (2) 58

@3) 71 (4) 102
26. { 71 1 |28

4] 17L:8

9. 15173

(1) -1 () 12

(3) 41 4) 63
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23. What is the total number of small blocks?
(1) 17 (2) 24
(3) 27 (4) 30

24. Find the total number of blocks whose two surfaces are seen.
(1) 11 () 13
(3) 15 4) 17
- Q.25 and 26 : Directions— In the following square numbers are written

with a specific rule. Find the rule and decide which
alternative will be in place of question mark.

B tule ]

?2 15129

10 | 122] 26
(1) 49 (2) 58
(3) 71 4102

26. ([ 71 1 |28

—4 117 | 8
? 15173
(1) -1 (2) 12

(3) 41 (4) 63
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27. U AREE HOREA ghedre uedl e A faftre fawi Heen snepdia Eeen
AR, FUCAHA &1 FUE Ievreell & S fGHa a1 qg 94iF e

| ; \_J
. O
W(o.0 2) ) A
S s oo
lo 7o % <)

3) @ O
e o ' L %!

WY 28-29 : GEAT— WeHel Welieh YWY, UIATergTal SRt ShuT shivral udid

A3 7 femmm,
32 6:21.88. 7
(1) 440 (2) 356
(3) 445 (4) 352
29. 6,30, 18, 128, ?
(1) 36 (2) 38

(3) 98 (4) 90

77
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27. Asquare piece of paper is folded and cut at specific spots as shown in the figure.
The paper when unfolded will look like as shown in area of the alternatives.
Select the correct alternative.

)
|

e

=0
O

)

O
O

@
O
&P
%

3) 4)

O

o)
%%
19,
RS

'Q.28and 29 : Directions— In each of the following questions, write which
' term in sequence replaces the question mark.
28. 26,21, 88, ?

- 4831881

(1) 440 (2) 356
(3) 445 (4) 352

. 5
29. 6,30,8,'128, ?
%<
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WoT 30-31: Gorl—- @iet S do faot e wumm srgiar 9 e fa=
oIRd waar [ Wefter et oMU & AT 0 § 4 whieh fao
amea, oo waar 11 wefter 3@t orfoT TaT AT 5 d 9 Al
fa@r amRd, a1 dEETel I WUH T Al ik d Hav
WATSAT THAT HHIRM Warger Sar 341, S 87122, 41 a1 €&

Hareer W,
e 1 e 11
Y N T G s S v 51 6 }7C BiH
0| Fil o |3 S5F & s +& | T DAY P
1 S W FlolM 6| 1 1P AT | D
2. 5.0 M | S¥1 FPL°F T 1T LD | QP T A
g 1R | Pl Ol M| S g LF LA g Ten| 3
4 | mi{ stk |¥lo ARG E SELE
30. svren g&FEr '@ MOST o vt wfafafue +r?
(1) 40, 44, 22, 89 (2) 33,20, 11, 79
(3) 21, 00, 03, 88 (4) 02, 13, 34, 56
31. s @& @ ROAD a1 =" wfaffee ar?
(1) 42,32, 79, 58 (2) 23,32, 98,99
3) 11, 13, 67, 69 (4) 04, 20, 55, 78
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Q.30and 31: Directions— Two charts are given below :

Containi;‘ig two groups of letters. In chart one the rows and columns are labelled

with 0 to4 number. In chart two rows and columns are labelled with the numbers

5 to 9. The letter in the chart is identified firstly by its row number and then by

its column number. For example 5 is denoted by 22, 41 number.

Chart I Chart I1
0 1 2 3 4 5 6 7 8 9
0 Fiuy O-faigsS R 5 Ky TRFD I P
1 S R|F|O|M 6 I Pl A+ T | D
2 O | M| S O 4 1 1D I PF1-A
3 R1T#PFP LO LM ES 8 P .l :A | TR D I
4 | M| S R E#l O 9 | D I s | T

- 30. Which group of words represent the word MOST?
(1) 40, 44, 22, 89 (2) 33,20, 11,79

(3) 21, 00, 03, 88 (4) 02, 13, 34, 56

31. Which group of words represent the word ROAD?
(1) 42,32,79, 58
(3) 11, 13,67, 69

(2) 23, 32, 98,99
(4) 04, 20, 55, 78
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32. U Weig faganeien 11 SiERer 9 28 SfEREr 2012 v Rasst=t g2t g, et

A & woArge 10 o1 fow Qe g IR Wl gE qeanrgy 7 = e
AT Hed SR Bl T/ Heoir=l aR FHIv 39 ?

(1) =R (2) Rar

(3) TFER (4) HTTTER
W9 33-34: UAT- Wieliel Udeh U9ATd, U9 e U fafore wum
FEAaTd T U WyAreRTeT ri fEeear gatardent srordt

3Tehell AFSA A BT,

1

(2)

4)
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32. A school boy was having Deepavali vacation from 11 October to 28 October
2012. It was Monday on the 10th Day before the start of the vacation. After the
vacation, the school excursion was arranged on the 7th day from the reopening

of the school. On which Day was the school excursion arranged.

(1) Sunday

(3) Thursday

(2) Friday

(4) Tuesday

Q.33 and 34 : Directions— In each of the following, the question figures
change in a particular order. Decide which figure from the

given alternatives will replace the question mark.

(1)

3)

(2)

(4)
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(1) (2)
Ll
(3) 4)

& a o Y

WY 35-36 : GEAT— WIeiter Uy Yfgean aTan SH-AT UST9i STEr §a I,
aaTe ey foa=n 9 < yEme e ¥ day faume geA
Yy AT SRIvTET Uaia AT o YN,

35. AMK :SPJ:: KNM :?
(1) CQN (2) BQL
(3) CQL (4) BLQ

36. NOM : P11Q :: V14T : ?
(1) X172 (2) X16W
(3) X15Y (4) X16X
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= 9

(1) (2)

3) 4
o i 0 JI’

Q.35and 36 : Directions— In each of the following questions there is
a specific relationship between the first and second term.
The same relationship exists between third and fourth
term. Understanding this relationship, Find out the correct
alternative to replace the question mark.

35. AMK : SPJ:: KNM : ?
(1) CQN _ (2) BQL
(3) CQL (4) BLQ

36. N9M : P11Q :: V14T : ?
(1) X17Z (2) X16W
(3) X15Y (4) X16X

e S R R Ay M
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37. g ua fewmongs ufvemee 9 fFdll. yam w3 TR ISEiwe a7 7 . gaE w1
M eEwe 9 8 fod A & anfor T fayAe WM ged g 11 fEHL gam w
AR IeHS Fad 01 7 foFfl. yam w1 W A Yo fowomaga fadt sauer ae?

(H M Y 9| HIEHA deid )
(1) 9 fesi. ' (2) 6 .
(3) 3 fh. (4) 7 fah.

38. 3fFiHl Tgag Wievl fioiel R, = Aifeehdid Mesdd 3% A HHM TH 9Iad
fioet oI’ @ o ge TAg e

0-0100—10— 1111 ——
(1) 01011 : (2) 01101
(3) 01111 (4) 01110

W9 39-40: goI— WiEE F TMiae gl 9 Rielaiel Weodrd, 2HA o Hiee
Tihl T WA Qasard. T F Tfae ferehe o Ficiaiel Gaam.
BHA, THYT 9 aFid ¢ Peaial 9 Suaid Wodrd.

39. g1, fohahe 9 =iciaia € fa<idt €= #iv @edi?
(1) Arua (2) Tifag
(3) 2wd (4) 3
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37. Seema went 9 km to west. She turned to right and went 7 km. She turned to left
and went 8 km. From there she turned back and went 11 km. Then she turned
to right are went 7 km.

How much distance is she from origin?

(Seema turns every time in 90°angle)
(1) 9km (2) 6 km
(3) 3km (4) 7 km

38. A rhythmic arrangement of numbers given. The missing numbers appear in the
same order in one of the alternative answer. Find the correct alternative.

0-0100—10— 1111 ——
(1) 01011 (2) 01101
(3) 01111 - (4) 01110

Q.39and 40 : Directions— Madhav and Govind play Hockey and
Volleyball. Hemant and Madhav play Hockey and Baseball.
Ramesh and Govind play Cricket and Volleyball. Hemant,
Ramesh and Anant play Football and Baseball. Then,
answer the following questions.

39. Who plays Hockey, Cricket and Volleyball?
(1) Madhav (2) Govind
(3) Hemant (4) Anant
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40. EEAEIHT FIU FHAHE Wad Rl
(1) ez (2) &¥a
(3) wmE (4) T
YT 41-42 : AT— Teht TS i o feardt W sirepdia Feifaear
aea fer Fritgror e @efer wvret I fere,

¢ ¥
@) 5 e X

A/.x O

41. X Ta=ren favg goammeR Hivd fas s@a?

MO 2e
3) A 4) —>

42. AW fa=r=n fasg g9 v fa= s@a?

MO e

B) >3 (4) X
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. 40. Who does not play Baseball? Choose the correct alternative.
(1) Govind (2) Hemant

(3) Madhav ‘ (4) Ramesh

Q.41 and 42 : Directions— In the following figures, three different
position of a cube has been shown. Observe the figures and
answer the questions that follow.

& &
\ -
20 o o) o

41. Which sign will be on the surface opposite to surface having X sign?
| £ S s
)@

4) —

42. Which sign will be on the surface opposite to surface having MFsign
(1)/ 2@

3) > 4) X
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|
5~ O
B
[t eiior 4
et e o
O P
M. G @! . |
- L
e '_ E B o, il
ey er<a
@) ! %ﬁ @ ! 0%3
' |
PR s prieeay 7

WY 44-45 : G- UEeaT WEen THAT WAV TET WA A, THS FEG
formn W@ <o wWEht o, W weAfeTen it Ut

W faeear vatamye yiem
44. 583:7::488:378 3
M2 &) " n 3293
| onrad AR
(3) 487 ;”;:’J \D\A’ﬂ o layss
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-43. In the figure given below, a transparent square shaped paper is folded along the
dotted lines. What figure will be obtained ? Find the figure from the alternative
figures given.

|
5 On

gai®

, RS ' L
i ey
ol & @ | i%@
[ 550 b
L_.._:__J. I T o0ghly (o2 MU |
TR poI it
| : =
1 e
i o

Q.44 and 45 : Directions— In each of the following questions there is a
specific relationship between the first and second number.
The same relationship exists between the third and fourth
number which will replace the question mark. Select the
correct term from the alternatives given. '

44, 583 :7::488 : 378

(1) 291 298

(3) 487 (4) 581
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45 13: 19 31?7
(1) 41 (2) 37
3) 33 | (4) 47

46. G YA YAF THLE @RI gemEl Hdde qev faftre 9§y o'
@ 9 yearaerea 9t g gaig faet

64 (87) 343 49 (76) 216 36 (?) 512
(1) 68 (2) 59
3) 52 (4) 48

47. TH IREIFA FREA TS Hede] fT@urn gEiE W sepd Se aen fieft
AR, A FIR SR F91 KH § I @ facion qart sepdmya o,

(D) (2)

3) (C))
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-45.

46.

47.

— .‘W/
13:19::31:2 @ . ok
2\ (2) 37

(1) 41 ' \
= ot . G
(3) 33 S @) 47 1,

&
In the following question in every row the numbers outside the bracket are related
to number inside the bracket in a specific manner. From the given alternatives
find the right number which matches and will replace the question mark.

64 (87) 343 49 (76) 216 36 (?) 512
(1) 68 (2) 59
(3) 52 | (4) 48

After folding a square piece of paper, it appears as shown in the left side
question figure. The paper when unfolded will look like as shown in one of the
alternatives. Select the correct alternative.

____________

(1 (2)

3) , (4)
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48. TEHE TF AP YA AFA feoen AR, fioen wEEg v s feer w5
ol el A ot ee?

(D

(2

3)

“4)
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- 48. The following question figure given at left side is incomplete. Select the correct

alternative which can complete the figure.

(1

(2)

3)

4

NTS-MS-MAT-SL

Mi15




WA 49-50 : GANI— WEdeAT Apdiwed @ siifafaw TR AT

ITRA, T SR WS TR T WE €, AT e

AR VAT HEA YeIer Wy areal.
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Q.49 and 50 : Directions— In the following diagram, three geometrical
figures have been drawn intersecting each other. The labels
have been given to different parts. Each figure represent
a specific group of people. Observe the figure closely and

answer the questions that follow.

Employees

Players

L Private businessmen
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49. fdt Tl FOM BBrg @SHil HTHE FHIAT?
()b
(2) a
3) ¢
4)d

50. fordt Aerg, T TR
o b
@) d
3) a
(4) ¢

* X X
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- 49. How many employee players do private business?
()b
(2) a
(3) c
4)d ‘

50. How many players are unemployed?
(1) b
2)d
() a
4) c

* Xk Xk

NTS-MS-MAT-SL | X[ Mi5 |




-

SEAL

[ NTS-MS-MAT-SL

48 of 48




NTS-XL.T.1/L.T.5

NATIONAL TALENT SEARCH EXAMINATION, 2017-18
T WAT I0E qer 2017-18

CENTRE CODE &% Hehdi®h

SEAT NO. 3194 HHl&

STATE LEVEL EXAMINATION — QUESTION BOOKLET

TR THAT — qyAgfent
LANGUAGE TESTING

CLASS X / z3= 104t
MEDIUM : MARATHI (wdt) / ENGLISH (33sit)

MARATHI VERSION PAGE 2-16, ENGLISH 'VERSION PAGE 17-32
TS WA U 2-16, ASH WEAW YD 17-32

[Time :11:45 A.M. to 12:30 P.M.]
[98 : 11:45 ° 12:30]

Maximum Marks : 50

TERUT 0T : 50
Time : 45 Minutes Total Pages : 32
as : 45 fufwe TEHIT U : 32

[NTS-MS-L.T. | X [ L.T.1 |




TitgmeiaEt ger

WWWWWW@EW gq#isﬁiugaasﬁmﬁﬁm
ferereart am@a

1. 9 AN g Gohdidh 0T EA HHE FhEeA gooe o, _(wa"rﬁam
& AYHY) WA AT FwHIS fAfevArgE @ aUEl FATcArEl @l HEA Al
HIETET AT i TEUIR T A <& =L YYAgiesT 9 Sutas 91 aie dwerd
A FHHF q HR Hehdih Arre Fodh 3k A0 YAST AT S e
B DF

CENTRE CODE %% Hehdidh

SEAT NO. 3T%H FHi% | B

YAF YA Uah U IR,

|d 9y Wrsfaur smavas sRa = I fafgvargdt @yl yeaufye am=d 9g 9.
TERT YA IaR Ad T9 T G S 9 Terg THL [ed YA Grefauary = 94
6. ¥ HrefarammEt geren e 3 faearme S9e @ Sdd S Siearys i 39

7. AW 391 TR IR Aaravarrat ‘‘arar e’ ( Language Testing ) 41 vide
e It fherel 3R At @Bt F.

8. TIF YISl SRS WAYfae el Wiy feet R s gl arg R o
T HHIE Y § 1 HHIRA g greTell fReed Ul TR F%A 9 940
W@ifhd (F12) F6F IR UL 0F & FH JI=A1 Scrdrreh el sgeiedt OMR Sheet
WA FEAGE KA I g T

9. F9 71 Yfcehd % Hahdid M0 A FHF 9 Fod 19 TEAS 33 FEE g
L.

10. 31 g IR UG gEAW .

ol SR o

| NTS-MS-L.T. | X | L.T.1 |




WTET Ve — WIS
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(1) =@ (2) &g,
(3) Tt (4) T

2. Gt 9 @RI § VA Fq 3?7
(1) sfaurrsd (2) iefad

(3) Saad (4) Harea

[NTS-MS-LT.[X| LT




3. FIE SSUGMEET HIME IR Helr?
(1) ereft 2) W

3) fe= (4) T FT
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INSTRUCTIONS TO CANDIDATES

Read the following instructions carefully before you answer the questions.
Answers are to be given on the answer-sheet, which combines both the tests:

1. Please write your Centre Code and Seat No. very clearly (only one digit in
one block). Before writing your Seat No. get it ascertained from the Centre
Conductor. Please see that no block is left unfilled and even zeros appearing
in the Centre Code and Seat No. are correctly transferred to the appropriate
blocks on the booklet and on the answer-sheet.

Example

CENTRE CODE &g Hehdish

SEAT NO. 319+ &%

For all subsequent purposes your Centre Code and Seat No. shall remain
the same. Centre once allotted will not be changed.

2. All questions carry one mark each.

3. Since all questions are compulsory do not try to read through the whole

question paper before beginning to answer it.

4. Begin with the first question and keep on trying one question after another
till you finish. :

5. If you do not know the answer to any question do not spend much time on
it and pass on to the next one. Time permitting you can come back to the
questions which you have left in the first instance and try them again.

6. Since the time allotted is very short you should make best use of it. The
rough work is to be done in the box given under each page.

7. Remember you have to mark on your answers in "Language Testing"
Section of the answer-sheet only.

8. Answer to each question is to be indicated in the answer-sheet by encircle by
black pen in the appropriate number of alternative in the answer-sheet from
amongst the ones given for the corresponding question in the test booklet.

9. Do not write anything except Centre Code, Seat No. and rough work anywhere
in this booklet.

10. Now turn to the next page and start answering the questions.
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LANGUAGE TESTING - ENGLISH

Directions (Q. Nos. 1-5) :

Read the passage and answer the questions based on it :

Parents of children who were saved by fisherman Abdul Sattar flocked the Triveni
Kala Sangam on Wednesday afternoon to greet Abdul Bhai, who rescued most

of the children in last week's school bus tragedy.

Abdul was awarded the Times Hero Award by Rajya Sabha Deputy Chairperson,
Najma Heptullah. 'l find a God in this man', said Raj Kumari Devi, whose ten-
year-old son. Arun, was rescued by him, 'This man emerged like an angel. None
of us knew swimming. We did not know how to reach the scene of the accident,
which was in the middle of the river', said Arun's father, Chand Sharma was
another happy soul. Her two sons were saved by Sattar. Chand says, 'We‘were
helplessly roaming about on the river bank, while this man was struggling to save
my children. I shall never forget the contribution of this man to our life. We go
to the temple, but these are the true Gods amongst us. I wish I could give him
every little belonging that I have. He is great. 'Abdul Sattar is simple fisherman.
He has spent twenty five years of his life worrying over his daily meal, what he
wears and a fixed dwelling unit for his family. But the man made a mark when
the recent school tragedy occurred in the Yamuna. He saved the lives of most

of the children, who were drowning in the river.

1. What is Abdul Sattar?

(1) ateacher \Q{ a fisherman

(3) a carpenter (4) a driver
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2. Pick out the antonym for 'remember'?

(1) save (2) rescue

3f forget (4) forgot

3. Which award is mentioned in the passage?

(){ Times Hero award

(2) Times Heroine award
(3) Padmashri award

(4) Padmabhushan award

4. "He is great", who has made this statement?

(1) Adbul Sattar

(2) Najma Heptullah
(3) Rajkumari Devi
\Llj Chand Sharma

5. Which of these pairs is the odd man out?
) last week
(2) little belonging
(3) happy soul

(4) little family
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Direction (Q. Nos. 6-10) :

Read the passage and answer the questions based on it :

Anaemia is a major public health problem that affects women and children
throughout their life. In young boys and girls, anaemia limits their growth
development, reduces their concentration, affects their learning capabilities and
makes them susceptible towards infection, thereby increasing school drop-out

rates, reducing their physical fitness and work productivity.

In girls, anaemia leads to early delivery in future, birth of low weight babies,

higher infant mortality rates and higher maternal mortality rates.

Anaemia is a preventable disorder. Adding rich food items to the diet and taking
iron-folic items to the diet and taking iron-folic acid tablet regularly go a long
way in maintaining natural haemoglobin levels and reducing prevalence of

anaemia.

6. The major public health problem mentioned in the passage is .......................
(ﬁ ) Anaemia : (2) Typhoid

(3) Malaria (4) Swine flu

7. In young boys and girls Anaemia affects their ........................
(1) teaching capabilities \j,lf learning capabilities

(3) eating habits (4) physical fitness
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8. We should take ................... tablets regularly.
(1) calcium
(2 iron-folic acid
(3) vitamin

(4) tonic

9. We can prevent Anaemia by maintaining natural.........................
(1) oxygen level
(2) red and white blood cells

(3( haemoglobin level

(4) calcium level

10. Which word in the passage means 'curable'?

(1) major . (2) susceptible

@(preventable (4) natural

Direction (Q. Nos. 11-15) :

~ Read the passage and answer the questions based on it :

Shree was working in the stone quarries at Turbhe. He had a son, Shekhar.
He was blind from birth. His father had never let him out of the house as
he was afraid of his safety. One day when he was twelve, five boys from
the local Municipal School came to Shekhar's house. They were shocked to

know that he had never stepped out of his house since, his birth. The boys
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were members of an 'Arambh’ project that tries to get children to be educated.
They told shree that he should send his boy to school. Shree did't like the
idea. He belonged to a poor family. After repeated visits, the boys again
visited and told shree that the school admission was free. Shekhar was very
clever. He got 2nd rank in his S.S.C. Exam. The school headmistress called
Shree and said, "Your son has proved the best in the school and I am proud

of him, he was really a hard working boy."

11. Where was shree working?

U/(in the stone quarry
(2) in the stone lorry
(3) in the muncipal school

(4) in an 'Arambh’ project.

12. How many boys came to Shekhar's house?
(1) twelve (d) five

(3) two (4) seven

13. The phrase 'to let one out' means .......................
(1) to be shocked
(2) to go out

(3) to give permission to go out

G‘{ to agree
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14. The boys were shocked to know that ........................
(1) he belonged to a poor family.
‘9{ he had never stepped out of his house, since his birth.
(3) he had never visited school.

(4) None of the above.

15. The school head mistress was proud of Shekhar as ...................
(1) he was blind from his birth.
(2) he was an honest boy.
@{ he was really a hard working boy.

(4) he was an educated person now.

Direction/ Indirection

16. S1 : Once I decided to prepare tea myself for my friends.
S2 0 ssiiiseserassenessonivechdds SNUINAONL AW, L RULL T 00 .04

O el R it it s A T b i s e

S5 : Finally I strained tea and served it with biscuits.

P : 1 added five tea spoons of sugar and three tea spoons of tea powder.
Q : I took three cups of water in a vessel.

R : Then I switched on the gas stove and boiled water.
(1) PQR :i?RP
(3) PRQ QPR
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17. S1 : The menace of plastic in the state came to the fore when thin plastic

bags choked the drains and caused water logging.
L R e DT PR S e SRR SP L RRRE UL

...................................................................................

S5 : But the anti plastic movement is gaining stream in cities.

P : Later the government decided to ban only bags of thickness less than

50 microns.

Q : In the aftermath of the incident the government proposed a complete

ban on plastics.

R : However it may be a long time before plastic is completely banned in

the state due to its widespread utility.
(1) PRQ (2) PQR
(3) QPR qy{ QRP

18. A : Sparrow was the first bird I was introduced to.

C : Later the roads were widened and the birds left our area.

(1) Sparrows love feeding on grains.

(.2{ As a child I would keep watching them after my school hours.
~ (3) Fruiting trees attract many birds.

(4) I know it doesn't understand our language.
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19. A : The leopard was found in the basement of the school.

C : After an 18 hour operation forest department officials finally captured
the leopard.

(]/( The leopard had entered in the premises of NES school.
(2) The leopard had entered in the premises of police station.
(3) The leopard was kept in a cage.

(4) Even today leopards are being hunted everyday.

20. Superstitions introduce .................... fears in the mind and weaken it by the
power of suggestion.
(1) rational Q’{ vague
(3) valid (4) weak
21. My greatest guru is my mother. She gave me .......c..ccceueen..n... of l_ife.
,(.l’{ values (2) meals
(3) education _ (4) message
22. If we had the .............. that however difficult things are right now, it will not

remain so forever.
(1) impression (2) conviction

(}{ belief (4) thought
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23. While you deliver a speech, always be .......c.ccccevennnes
(1) shy (2) nervous
(}5 confident (4) stubborn

24. We should have 'balanced diet' every day. Here balanced diet means..................
(1) delicious food
(,2/)/ limited nutritious food
(3) food that is oily and spicy
(4) local food

25, Many people consume packaged food because.........cccconirrvisiniiiiiannn
(1) It was become a matter of convenience
(l) It has become a matter of convenience
(3) It is become a matter of convenience

(4) 1t had become a matter of convenience

26. Previously they used to live............ccvvenn.ee. Paris.
(1) with (2) by
(3) within (ﬁ{ in
@ She always avoids artificial products and goes only for the natural ...................... ?
(1) does she ? '(é{ioesn't she?
(3) don't she? (4) will she?
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28. If it rains tOMOITOW, WE .........couee...... paper boats.

(1) Prepare
.ﬂl{ will prepare
(3) could preparing

(4) are preparing

o VRS Toadi sk you like to have tea or coffee?
(1) can @)/ will
(3) would (4) should

30. She has got green fingérs. This means.............c..cc.........

(Q/ she's got no experience of life.
\(/) she steals things.
(3) she's good at gardening.

(4) she's got fingers green in colour.

31. Peace and Progress always go hand in hand.
(1) go together
(2) depart from each other

(3) seperate from each other

(ﬁ{ go parallel

NTS-MS-L.T. | X | L.T5 |
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32. He has been learning English off and on for sometime past. |
(1) regularly |
(J(f irregularly
(3) steadily

(4) carefully

33. By and by the teacher came into the room, and there was pin drop silence

in the class.
(1) before time
(2) some time afterwards

(.3/{ in time

(4) in a short time

34. After a lot of efforts when his scheme has fallen through, he felt very sad.

(1) succeeded (2) collapsed

\(3{ failed (4) passed

35. His maiden speech in the parliament was a great success.

(1) first speech

(2) last speech

(J(g:ood speech

(4) long speech
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Direction (Q. Nos. 36-43) :

The earth is the (36)

planet of the solar system. No other

planet other than the (37) has life on it. As the earth is a

(38)

there is magnetic field around the earth. It diverts

the harmful rays from the (39) towards the polar regions

of the earth. The sun which is at the centre of the solar system is a yellow

coloured (40)

. Mercury is (41) to the sun.

(42)

the (43)

is the largest planet of the solar system. Mars is called

planet.

Direction

36. (1) first

U{ third
37. uﬁmh

(3) Uranus

38. (1) Star

(3) Magnet

39. (1) Moon

(3) Mercury

(2) second
(4) last

(2) Neptune
(4) Saturn

@6 Planet

(4) Asteroid

(ZJ Sun

(4) Mars
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40. star (2) planet

(3) satellite ~ (4) Super Nova
41. (1) largest Q{ closest
(3) farthest (4) smallest
42. (J’{ Jupiter (2) Mars
(3) Earth (4) Venus
43. (1) yellow (2) blue
(3) white (50/ red
44. 1 have kept a reserve funel in case ............. cersenens accidents.
(1) with QY of
(3) in (4) to
LR R e A is a person who is mending shoes.

(2) carpenter

(3) cobbler

(4) buyer

46. The train ................ at 6.30 A.M. everyday, so the platform is crowded.
U/f arrives © (2) arrived
(3) arriving (4) will arrive
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47. Little Rohan is very much interested to watch the ships ................ in the

ocean.
(1) saling (2) selling
(3{ sailing (4) celling

48. My mantra to be happy is very simple.
(1) imperfect (2) unhappy
(3) difficult (4) worst

49. Solar energy is modular and scalable and can be generated at the point of

use,
Jf) measurable
(2) immeasurable

(3) countable

%aluable

50. Our problems are so colossal and we are very small.
(1) strong
‘.(Z{ extremely large
(3) small
(4) difficult

* %k Xk
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INSTRUCTIONS TO CANDIDATES

Read the following instructions carefully before you answer the questions.
Answers are to be given on the answer-sheet, which combines both the tests:

“fre
1. Please write your Centre Code and Seat No. very clearly (only one digit in one: block).
Before writing your Seat No. get it ascertained from the Centre Conductor. Please see
that'no' block is left unfilled and even zeros appearing in the Centre Code and Seat No.

are correctly transferred to the appropriate blocks on the booklet and on the answer-
sheet. -

Example

CENTRE CODE &% HFaid

SEAT NO. 3199 &Hish

For all subsequent purposes your Centre Code and Seat No. shall remain the
same. Centre once allotted will not be changed.

2. All questions carry one mark each.

3. Since all questions are compulsory do not try to read through the whole question paper
before beginning to answer it.

4. Begin with the first question and keep on trying one question after another till you finish.

5. If you do not know the answer to any question, do not spend much time on it and pass
on to the next one. Time permitting you can come back to the questions which you
have left in the first instance and try them again.

6. Since the time allotted is very short you should make best use of it. The rough work is
to be done in the box given under each page.

7. Remember you have to mark on your answers in "Scholastic Aptitude Test" Section
of the answer-sheet only.

8. Answer to each question is to be indicated in the answer—sheet by encircling with black
pen in the appropriate number of alternative in the answer-sheet from amongst the ones
given for the corresponding question in the test booklet.

9. Do not write anything except Centre Code Seat No. and rough work anywhere in this
booklet.

10. Now turn to the next page and start answering the questions.
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1. TR FHIHaA A TR covvverrrrnnnens W

(2)€|1aramaws’ma.
(3) TR GU T FEAM.

(4) TERA AT g1 AYEEAIF Had 9 Hesedl agedl.

b e it mmﬁmm‘zsﬁﬁaﬁ'aﬁaﬂ‘@ﬁ?ﬁﬁ?’
U TS el Sl '

(1) St sonfag gaon
(2) =1 9. = T

(3) &i. fawm e

(4) . T . 3. IgA HaA™
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SCHOLASTIC APTITUDE TEST

1. Twinkling stars are seen due to

(1) irregular emission of light from stars.
(2) weather changes.

(3) stars are far away

\Mctive index of air in the given region goes on changing and randomly.

2. Government of India celebrates 28 February as National Science Day' in the

memory of

(1) Dr. Hargovind Khurana }
Wr. C.V. Raman (
(3) Dr. Vikram Sarabhai /

(4) Dr. A.P.J. Abdul Kalam

3. F=G mlR# is the formula to prove

(1) Newton's First law of motion
(2) Newton's Second law of motion
(3) Newton's Third law of motion

ewton's Law of Gravitation
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4.wmmwwﬂmma$ﬁéamo.sﬁaﬁﬁa2wmfmso

(1) 100 x 10° N/m? (2) 50 x 10 N/m?
(3) 100 x 10°N (4) 50 x 10N
5. GO TR AHAH M .ocrrnrenn T IR
(1) 20 ) 25
(3) 30 (4) 35

6. @EiE W 1, 117 M1 3 Friem sea s Jeear anfor feiea vt 9w sau

g fas

I I Il
A B T TMerLETY R e Q=4
| et YRS TGO BIUATEIET SEvdS T A
T (b)| wfevendter ¥ arafaverardt e { Gi) |- 2

fecien womadia SEETSAT HIERET

...|R(8) =

C.|faggaumn (o) | FesTqA varfea svmn o faga | (iii) R +R,*R,..R(n)

JIR

TEF A TRUNEA T AR A6
D. | Qeyahan ) . w)|v=¥%

YA 3T : Q
(1) A -b —iii, B-a-iv, C-c~i, D-d=i
(2) A-c-1iv, B —b—iii, C-d-i, D-a-ii
3)A-d-1i, B-b-i, C-a-iii, - D-c-1iv
4) A-a-i, B-b—1ii, C-d-1iv, D-c-1
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4. Calculate pressure exerted by a screw on the wooden plank if @Lq:a of contact of

the screw is 0.5 mm? and its weight is 50 N. - X \ O(d
(1) 100 x 108 N/m? (2) 50 x 10% N/m? \ 09
\MOXIO‘SN (4) 50 x 106N %
o \9
5. The distance of distinct vision is cm. %
(1) 20 25
(3) 30 (4) 35 B!

6. Observe the Columns I, II and III, match them and select the correct answer

from given options.

I I I
Resibtons Required to move a unit
Al (a) |positive charge fromone (i) | Q=1
in series ’ ; A
point to another point.
Potential Used to increase effective | .. Q-
2 difference (®) resistance in a circuit. (W) 1= t
e Elscttis | :f; Efiif z::(t)i‘:)’:lnfft:mugh iy | 2O~
: +R,#R....
Sh conductor in the given time. *] _R2 B
3 TR Depends on the material of |,. w
D. | Resistivity | (d) fhia ool o (iv).|v = 9

M—iii, B-a-iv, C—c—ii, D-d-i.

(2) A-c—iv, ) B —b —iii, C -89 D-a-—ii
(3)A—d—ii,"< B-bci C - a — i, D—c—iv
(4)A—a-i,"< B - b - iii, C-d-iv, D-c—ii
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8. arefri Fom e S AT T
(1) Sah1g Tervedel HIvE! faquelt Fecen daw gawa &erel e qrafear
(2) 3 G O THHSI HHIE BT AT
(3) w1 fomoft A A s g S R g TR S w6
ST e T G A A TR T ST
(4) GaHTT TR TN e TH YA A GEAr 0 YA e W 9ae IW
yamareht gial.

9, Iqdw RVHEH @l oo faumitet g% faum fae
(1) SEATSIER FIRIF Rt @ faeen swm.
(2) sfauin SFHaHia HedH TWade Tl
(3) TN AfTER S .

(4) @@= I9FM ada fRar TUaTETEt HYam.
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7. MRI stands for

(1) Managing Response Index
(2) Magnetic Resonance Index

L/(z3'){/1agnetic Resonance Imaging

(4) Managing Response Imaging

8. Which of the followings is not property of magnetic lines of force.

(1) The tangent at any point on the magnetic lines of pole gives the direction

of the magnetic field at that point.
(2) No two magnetic lines of pole can intersect each other.

(3) Magnetic lines of force are crowded where the magnetic field is strong

and far from each other where field is weak.

\/(J/They are closed continuous curves. They start from south pole and end on
north pole.

9. Select the incorrect statement stated below related to concave mirror.

(1) Outer surface is coated with opaque substance.

2 er surface is polished and thus reflective.
&/(% p

(3) It is called as converging mirror.

'\}/Kg used to observe the phenomenon of refraction.
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10. ‘faggd DC S/Ret’ @ arpdrs e w0 snfor Fmfem stearsn 4 @i fes

B Cc

©

(1) P- wriremeht gas, Q-3d=R Figet, R- fawrsfa #2, S-sfawt
(2) P-eir@@ W, Q-smi=R Fiée, R-fasefa w2, S-afader

(3) P-vriteet gash, Q-wirget i, R-3fad, S-av

(4) P-dirE W, Q-3fae, R-fawrsiia #<t, S-vadtoneht gaw

11. w1 fagga aca=n Feara 0.4A aa! faggaum 3 fafe vaifed 2@ o@a | ™
TR v faggausR ffdt sme?
(1) 12C.
(2) 36 C.
(3) 712C.

(4) 450 C.
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10. Observe the diagram of 'Electric DC generator, and select the correct pairing of
labelling.

©

\/(«f{Strong magnet, Q-Armeature, R- Splitring, S-Axle

(2) P-Iron core, Q-Armeature, R-Splitring, S-Axle p<
(3) P-Strong magnet, Q-Iron core, R-Axle, S-Wire

(4) P-Iron core, Q-Axle, R-Splitring, S-Strong magnet ,92

11. A current of 0.4A is flowing through a bulb for 3 minutes. Find the charge that

is flowing through the circuit. ¢ _ - {/A- 1 ﬁ,

(1) 12C. 4+ 180 \ o

(2) 36 C. Q2 04 x40
M > 7Qe O

(4) 450 C.
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12. vmier fromdr Frieo #0 a ufash fod, ww anfor SRR i s Wi e

e BRI

A

(1) a1 HeAT=AT Yolihe, Ard S geore, aeue il
(2) aFal B F A4 A TCIA, araa A0 I, TRH
(3) T AT eSS, and T e, FEue Her

(4) a1 B F A A T0IA, A9 AT gere, e

13. g&ie forega aftwem e w1 anfor feien o= wafaE go=r 1@ el

(1) foga uftwy 39T R

(2) R, R, R, ¥ I THE Sireviia 3.
(3) X ‘A’ THEWR e IR

(4) =ieeHix 'V gHi@ e 3R,
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12. Ob#éfve the adjacent ray diagram and select the correct option of position, nature

and size of image.

e S

(1) Beyond C, Real and inverted, Enlarged

\_/(,2')’ﬁetweeu C and F, Real and inverted, Diministed
(3) Beyond C, Real and inverted, Enlarged

(4) Between C and F, Virtual and Erect, Diminished

13. Observe the circuit diagram and select incorrect option given below in answers.

Y
A
C _/\_/V\/V\M__/\/V\/\/\/\__/VVV\/\___D
g R, R, R, S
i ¢ (.} +} !__

ﬂtﬂc circuit is open

(2) Resistors R;, R, and R, are connected in series.
(3) Ammeter 'A' is connected in series.

(4) Voltmeter V' is connected in parallel.
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14. @eiel® FIN ToEed TeSUUl sea TEEa? tagd
(1) Na (2) Mg 0

(3)K (4) Ca o

15. @refieriet FIvEn qFams o= e 18 SR ARl?
(1) K* (2 Cr

(3) Ca?* (4) K

16. wEeist wiord afafwa et fazerm sifafen sm@?

(1) NH, + HCI NH,Cl

(2) CuSO FeSO, + Cu

4aq) T FEs)

(3) Na,SO, + BaCl, ———— BaSO, + 2 Na(Cl

(4) CaCO; (,, —&— Ca0, + CO,

21(g)

17. faster sTorfer®sy S Tohedr T FI0MET 379a12
(1) fea (2) iz
(3) TeEt (4) fem=n

18. RN @e PR 59 el M AN ESA A el al SuTHS Wefierdat HIva

AT 3TEA?
(1) fafew sifas (2) FAfefm sifae
(3) FmEitw Afas (4) witds =ffaeg
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14. Which of the following Element loses and electron most easily.

(1) Na (2) Mg

v(/{) K (4) Ca

15. Which of the following species does not have electrons equal to 18.

(1) K* (2) CI-

(3) Ca?* E@ "/M K
\0\

16. Which of the following is a double displacement reaction.

(1) NH, + HC NH,CI
(2) CuSO,,, + Fe,, FeSO, + Cu
_3) Na,SO, + BaCl, BaSO, + 2 NaCl

(4) CaCO; (; —2— CaO, +CO, ,,

17. The colour of anhydrous copper sulphate is

(1) Blue 2 White

(3) Pink (4) Green

18. Ajay has a stung by red ant, it causes itching & irritation. The sting consist of

which of the following acid.

(1) Acetic acid (2) Butyric acid

(3)-Carbonic acid W
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19. Grefieist HIvE T VAR FE0 STEHTH 3HA? 8O
(1) Na,Co, (2) NaCl i

(3) H,Co, (4) CuSO,

20. TrefieiFt Fowen GEEgS G oA FEvg R S
(1) wfeem wiES '
(2) TEGISA FATES
(3) Hrferm sfarse
(4) fafasm wivds

21. Eetst Hven urE e egeeie sifae ster sfafwa g El?
(1) R (2) egfafiem
(3) s 4) 7=

22. GEies! FHE G0 srEeret et fraer?
(1) C;H, 3fo1 C,H,
(2) CH,COOH a7t C,H,.COOH
(3) C,H, a1 C, H,

(4) (CH,),CO =1 C, H,CHO
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19. Which of the following compound is alkaline in aqueous medium.

-

pm{azco3 (2) NaCl

(3) H,CO, (4) CuSO,

20. Which of the following compound conduct electricity in aqueous solution which

is a covalent compound.

(1) Calcium Chloride
/(lﬁydrogen Chloride

(3) Magnesium Oxide

(4) Lithium Fluoride

21. Which of the following metal does not react with dilute HC1.

\/H’(Copper ¢ (2) Aluminium

(3) Iron (4) Zinc

22. Select a pair of homologous from the following.

(1) C;Hg and CH,, (Hd,

WOOH and C,H,COOH

(3) C,Hg and C; H,

(4) (CH,),CO and C, H,CHO

NTS-MS-SATSL | X| SI5 [17of64]




23. @rfeiEt Foen g7 [UPAC TeMe{aR Prop—1—ene el %a?
(1) CH, - CH, - CH,
(2) CH, - CH=CH, s
(3) CH, — CH = CH - CH,

(4) CH,-C=CH

24. Ve Wel Wy Weiais! HIod SRR TR FAE2
(1) Fe + C + Cr + Ni
(2) Ni+C+Cr+Al
(3) Fe+Cu+AI+C

(4) Fe+Zn+C+Ni

25. G HIV TEEATS SRS 7 S 31Hd?
(1) SOEFHIF 7 R =
(2) FOEHIF 3 SO EAEA
(3) HEHAF 12 FHUR HARHA

(4) HAFHATH 19 U JAXA

26. FeHE A TGS Eeferds! HIvR?
(1) C, H,, (hC R, .,

() Cn H2n+2 4) Cn I-IZn—l

NTS-MS-SAT-SL | X| SI5 | 18 of 64




23. According to IUPAC rule, which of the following compound is prop — | — ene.
(1) CH; - CH, - CH,

,L/QZ)’ CH,-CH=CH,
(3) CH; - CH=CH - CH, 24

(4) CH,-C=CH

24. Stainless steel alloy is a mixture of .
\/(1)/1% +C+Cr+Ni
(2) Ni+C+Cr+Al
(3) Fe+Cu+AI+C

(4) Fe+Zn+ C+Ni

25. Which of the following elements will form an acidic oxide.

%lement with atomic number 7

(2) An element with atomic number 3
\
(3) An element with atomic number 12 ; x> .
(TN

(4) An element with atomic number 19

26. Which of the general formulae represents the alkyl group.
(1) G, Hy, Q‘/(2){111'12“1
(3) Cn H2n+2 ‘X)/Cn I-IZn—l
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27. T WETOTEE @A Fedl " S g e
(1) zhassa
(2) gEvFR
(3) g
(4) F1EA T HAFES

28. T T TEUN VR
(1) Tty (2) e

(3) =it (4) T

29, wEfEfsa Samfa faasE Sdes Tare fFwd?
(1) 50 (2) 60

(3) 70 (4) 40

30. N,O ® zfae o vaferom fdt aufoda Tedr?
(1) 100 (2) 114

(3) 104 ' 4) 109

(1) & (2) @
(3) = (4) =1

[ NTS-MS-SAT-SL [ X | S15 |
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27. Raw material required for photosynthesis is ...................... and water.
(1) Chloroplast
(2) Sunlight

(3) Nitrogen

\})/Cgbon-dioxide

28. Find the odd man.

(1) Uterus (2) Ovary

(3) Vagina v@sﬁs

29. The prescribed limit of sound in décibles in silent zone during daytime is.

ﬂ (2) 60

(3) 70 (4) 40

30. A green house gas N,O remains for how many years in the atmosphere?

(1) 100 ) 114
3) 104 (4) 109
31. In human being blood goes through the heart ............. times during each cycle.
(1) one (2) three
(3)two (4) four
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(1) EEvaA (2) g

(3) Hferm (4) g
34. TFEAT TEHO ORI coonvrvnncrnnnissnnns Sredn SATEaAr

(1) 22 (2) 23

(3) 46 (4) 44

35. @reite @Y 31 3 WY ‘T gvfie seETe Siedr @l

SEREY W
() | = (a) | UG &IOS WHH
(ii) | STeh (b) | STFATT
(iii) | A= (© |afifw fras

D @H-, @@-@  3>i)-(b)
2 ®H-0), (@G{)-()  ((i1)-(a)
@) @H-®), G)-(@)  (@i)-(c)
@ OH-@, G-  ()-(®)
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32. Response to stimulus of touch is called ...............

'\Mic movement

(2) Photo-tropic movement

(3) Hydro-tropic movement

\&i&monastic movement

33. Find the odd man.

—_——
(1) Fragmentation \/Qﬁ{egeneration

(3) Budding in Yeast (4) Budding in Hydra

34. The total no. of pairs of chromosomes in human beings are ...................

(1) 22 V()/gg,

(3) 46 (4) 44

35. Match the column

Column A Column B

(1) Darwin'\ | (a) |heritability of acquired characteristics

(i) |Lamarck T ~(b) |inheritance

(iii) Meqdel : -./ \Eb)w natural selection

| o

(2) ®-0®), @@)-()  (i)-(a)
G)@®H-®), (()-@  ((i)-(c)
4) )-@, (@@)-()  (@i)-(b)
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36. EEeH! HIVE G SArEER fAurTde aedd el

(1) Fefye (2) SRR
Q3) 1 (4) I
37. TAATHE .oovvveenccrrienenne THE WEIE JHS FANS @S ged
(1) arise (2) oz
(3) TwES (4) "EAES

() A (2) B
3)C 4)D
39, AFE it YT GEHHTE HSE oo, ? TS TEd
(1) T=rAA (2) "=
(3) st (4) DIpicasic]
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36. Which plant does not belong to group Thallophyta

(1) Ulothrix (2) Spirogyra

(3) Chara L&,Pﬁnaria

37. The excretory product in crystalline form of the plants

....................... causes
itching.

(1) Phyroid /mhyids

(3) Graphyid (4) Cyanide

38. From different areas of the brain which is vision area?

(1) A

(3) C (4)D

39. In female reproductive system ovaries secrete

(1) testesteron \_/e){strogen

(3) auxin (4) thyroxine
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40. AT@ WTF AEl
(1) wEisfen (2) sfaaden
3) fasitsen (4) ffeaan

41. Erefie S FATHA FEA A @G e
(i) smfEn seHfifresy 30 TR
(i) sAfgam Hﬁmﬁw’w Hifta .
(iil) LI AU HHE wieAis A= T
(iv) T, $ere-FTa e AN R S S
(1) (i), (iii), (i), (iv) (2) (i), (id), (iv), (i)
(3) (), (@), (iii), (i) 4) (@), (iv), (iid), (i)

42, YT T FIOAA GRTHR Hacted TR ocvrvernreennne.
(1) ffea Fye=
(2) 3@ R

(3) 7
(4) Tt

(3) =gateh (4) =gt
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C/o‘} Find the odd man.
/) Adiantum (2) Equisetum

\ngnella ' (4) Riccia

41. Select the correct chronological order from the given.
(i) America declared war against Germany
(i1) Austria declared war against Serbia ——
(i11) Assassination of Austrian Prince Francis Ferdinand
(iv) Italy entered into war from England and Frances side

oG, i, 6, v /zaﬁi), (), (1), 6)

(3) (i), (@), (ii), (ii) (4) (@), (iv), (iid), (ii)

42. Who took lead and sacrificed the cold war?
(1) Nikita Kruchev
(2) Eisenhower

(3) Truman
Morbcchev

43. First colony established by England in America is

(1) Mary land (2) Virginia

(3) New york (4) New Jersey
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44.

45.

46.

ALY AR e YUH HvEal Ge ge el ?
(1) smfi (2) aTfteRt

(3) T (4) s

fETeN qeTdiel qeieiie! A STHeren ara warE fer.
(1) g 9 suem fere.

(2) =N AR =rer e,

(3) <rmed gue ud yERET T e,

(4) W AR FE1 9 GeAl Al

AT S IgF T FHEl.

(1) STEEsT - FArAT HHESER 3@@ a0l
(2) e afedt - o wIE= Yaen "yar 0.

- (3) enfdw T wmfee Uiug - WFE T 9 YEYd @aaard | S,

47.

(4) SfFared - AL HEREE F E.

Weftets! THRFERTE TR IR SEeer A Iaal vaiE s
(1) =gt waqofar T= e,

(2) frdrgearen =™ .

(3) FaAqgwETE 359 e

(4) AT W YRGS .
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44. In which continent did the first international trade revolution take place?
(1) America (2) Africa

(3) Europe (4) Asia

45. Which one of the following options is applicable to the 'Nanking Treaty'?
(1) Won the Hong Kong Island |

\_/(4{ The business of opium was granted
(3) Christion missionaries got permission to spread their religion in China.

(4) A group of six ports was opened for the foreign traders.

46. Identify the incorrect pair of the following.

(1) Assembly — To observe the administration of UNO
(2) Security Council — Permission to new membership

(3) Economic and social committee — To protect human rights and

fundamental rights

\Wretariat — To interpret international law.

47. Find the correct option of the constructive effect of imperalism.
(1) Destruction of village autonomy
(2) Decline of values

\1}@ of new leadership

(4) Suppression of under depended nations.
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48. FX FraEEt I A Hven dRoren faiy Ser?

(1) spfidamn sfe arev.
(2) @At 3TFM | YR A=

(3) FTHTRA Ja-TIESt geAyd |t

(4) T gEsiet e 9.

49, @refieits! S fewui yfReR e we TR
(1) H. (2) gfvfan.
(3) =nfern. (4) fagmge

50. @refiereht SV YT TLETH T9RE TESie TS ATl ?

(1) seeira sfusiifrarer Foe oL,
(2) feeo=n sAifgaEd goen
(3) ST HIGRATER e ST
(4) FH IR AT ITHA,

S1. ‘W W i, T e
(1) g A=
(2) FwrEreT
(3) SFRe drt
(4) wure
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48. Which policy of Linen was opposed by the extremist communist leaders?
(1) Give land to landless farmers
Allow private industry business to a limited extend

(3) To provide workers with basic needs instead of wages

- (4) Domination of the working class in the government.

49. In which of following place parallel government was not established ?

(1) Meerut (2) Pornia
(3) Baliya (4) Midnapur

50. Out of following which issue was solved peacefully by the United Nations?

(1) The attack of Italy on Ethiopia
(2) Hitler's attack on Austria

(3) Japan's attack on Manchuria

L/@‘){ly's attack on Kaifu Island

51. 'People's Party' was established by

(1) Sultan Majid

(2) Kamal Pasha

yﬁgneral Tojo

~ (4) Emperor Genro
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52. qdteiist wivar grurhTen ‘3ge fewEda’ RN
(1) f&-ar (2) w59
3) it (4) &R

53, fava & 3 Fafifdt T 2 wroren v e FReEE ae?
(1) =g (2) BreeHte.
(3) =rfiwy (4) “referat

54, FUUE AR IS TS HIvw@r?
(1) frererm (2) v=m i
(3) faeam (4) &=

55. aTfrerdiel SETeFaTRre Wed A @ee S T 8?2
(1) ameis 2) w=
(3) o= (4) @

56, @i SEdEiE TS BEN fSwr wiven seRH Jeifad e ?

K
1 L
’
fF*gp 1
; ’ 'H,,,.rnnu. ".
P’.“”/rurﬂrurnur-. e
ARV MFET v
D r
A

fu..f-lf!”"”ﬁ:,;:,. e
a ra { .

T i ",,,;nflIlf o 3 )
' "fl‘ifff‘r

(1) A (2B
3)C (4D
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52. Which one of the following is not an 'Input Devices' of a computer?
(1) Key Board (2) Mouse

(3) Monitor Scanner

53. The discovery of the fact that 'the universe is not a divine creation' was made
to the world by A

(1) Newton (2) Holdmant
(3) Copermnicus (4) Galileo

S54. Which king motivated the navigators in Europe?
(1) Nicholas (2) Pancham George

(3) William \#J4Yﬁémy

55. Which Asian country was involved in Africa's imperialistic policy?
(1) Thailand (2) Iraq
(3) Arab (4) Iran

56. In the given diagram which alphabet indicates the rain shadow area.

f(""’:to.:uf.inﬂ””:’;:“‘ 3
'uf"f 'l’,';ilffflf'

tre?
AR
Lol sEn

Wide glist_ancc -

------

L] I'tfrl‘ t
LS

1) A (2) B

3)C | v/ﬂﬁﬁ
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87, ... Jlssssas B 99 S Feal "id 37

(1) 58 (2) HrN
(3) @ (4) Wiw

ss.mmmﬁmmﬁmﬁ?
\“7
\% t

(1) TfvwSa Ol = (2) =TS A w_W

(3) STRFEA TEAT TR\ (4) e frmd ww

59, gaul wgepH memr ‘feelt’ dga fedt Tearen TeuEE Siedt?
(1) o= | (2) 5@

(3) W& (4) 3T1e

60. sRardter ¥a |l @iwifas faar/sRe Hiomr?
(1) SR sl Ae wdw
(2) W TR Ry
(3) sFd vEdE wu
(4) " At fETd AeEt W g W2
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57.

(1) Sugar cane

(3) Wool

is a weight loosing raw material.

</(lﬂon

(4) Silk

58. Which physical division is shown?

(1) Southern plateau region

\/Q’f Northern mountainous region (4) Eastern coastal plain

(2) Western plain region

59. How many state capitals are connected by the Golden Quadrilateral other than

Delhi?
(1) Five

(3) Six

(2) Seven

(4) Eight

60. Areawise which is the largest division of India?

(1) North Indian plain region

~ (2) The Indian plateau region

(3) Northern mountainous region

(4) Ghat coastal plain region and island

NTS-MS-SAT-SL
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62. Trawen FHETE TeEdE e W9 R e 7 i 3e?

(1) A (2)B

(3)C (4) D

63. e A TR TRA Giefieiia! HIH GEY TR HE AEIG?
(1) et Feu (2) e TR
(3) Fufife atu I (4) 'V s <@
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61. Asia's biggest Agricultural University is at

Hissar
(2) Ambala
(3) Ludhiana

(4) Amritsar

62. In the given map which alphabet represents the Godavari delta?

(1) A : 2) B

k,mc/ (4) D

63. Which of the following feature is not formed by the rivers of Ganga Plain?

(1) Meanders (2) Ox—bow lakes

=

«_(3) Natural levees (4) 'V' shaped valley
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64. TEfieish! @A TSIl HIE SUAHT A2

(1) SEgel- Hera #Ha T

(2) WY 9SR
(3) WrerET 9eR
(4) #leH R

65. IFA WEEay e qAg Awan

FETTET T v qod WAt %
A | yardt 9 58 17.1
B |=radifas a@a 14 3.8
C |d= =t 9 14 3.8
D | gt e 274 76.1
(1) A (2) B
(3)C (4D

66. @eficish! Hivar gty 3= gft Feemen Iufaur A,

(1) wrean 98R
(2) BT TR @R
(3) faer geaum
(4) s=*HRg
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64. Which of the following is not the sub division of Deccan Plateau

(1) Satpura-Mahadeo—Maikal ranges

(2) Maharashtra plateau

lea plateau

(4) Karnataka plateau

65. Which of the follovﬁng has wrong correlation.

Type of Vehicle Degree Percentage
A | Public Transport 58 17.1
B | Professional vehicle 14 3.8
C | Three wheelers | 14 3.8
D | Two wheelers 274 76.1
(A (2)B
3)C 4D

66. Which of the following is not the subdivision of Central Highlands?

(1) Malwa plateau
(2) Chota nagpur plateau
(3) The Vindhya ranges

. (4) Dandakaranya
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67. arg WSt @l

(1) S vedg wiw farm
(2) TSEuH #TH TF 4
(3) @@ WR faw ggv
(4) vema FfEmn dE =5

68. THIE ST L

T4 fraraeet
(1) e FALE
(2) = HiaTe™
(3) wRwS TeTR
(4) T FHican

69. 7@ urrds e v Iaiwe Arg w9 el
(1) Fafidt, s, e, qeshie
(2) rerRleT, e, Wi, Fmf
(3) e, WEwiel, WA, Fafi
(4)ﬁﬂﬁﬁ,w.m,m

70. e weg A wRvna wivren fewolt Wndt wrew TR den S,
(1) RER (2) gfeq
(3) famiq (4) TR
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67./Find the correct pair.
(1) North Mountainous region Chinar

(2) Rajasthan Plain Dhak
(3) Deccan Plateau - Khipbush
(4) Punjab Haryana plain Sandlwood

68. Find the incorrect pair.

State Coastal area
Karnataka Kalangut
(2) Kerala Kovalam

(3) Maharashtra Guhagar

\/t?/éa Kolwa

69. Proper sequence of peaks in the eastern ghats from South to North.

(1) Nimgiri, Mahendragiri, Nallamala, Palkonda
(2) Palkonda, Nallamala, Mahendragiri, Nimgiri
(3) Nallamala, Palkonda, Mahendragiri, Nimgiri

(4) Nimgiri, Mahendragiri, Pulkonda, Nallamala

70. In the middle ganga plain silk sarees are manufactured at

(1) Gorakhpur (2) Samastipur

(3) Mirzapur Mlpur

[NTS-MS-SATSSL | X]| SI5




71. SRfTH TERe v § fadt Sfusr smEa ® Stfavara sfusr HomE Se?
(1) sy
(2) =EHEH
(3) FHEFR Hea

(4) wfaum

72. HIETH A 1984 TR coovvrrcvvnrr T 9T T el
(1) Surars 9s
(2) wge fama s
(3) SE wHS v

(4) wR9-agsH wewy

73. ForeEn e defe Tt AR R i TRET T g o
(1) fawsh
(2) w=ifn
(3) At

(4) frere
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71. Who creates government and decides the powers of the regional level

governments?
(1) Legislature
(2) Judiciary

@m Executive

(4) Constitution

72. Kanshi Ram is 1984 founder party.

(1) Samajwadi Party
(2) Bahujan Vikas Party

L/«?@ujau Samaj Party

(4) Bharip Bahujan Maha Sangh

73. In which country's electoral system does the vote of an indigenous person have

more valyg than that of an Indian person?

(2) Estonia
(3) Mexico

(4) Finland
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74. <SG SO TS IS Frw A FAHA WA TSR vl BT
HHa ohell?
(1) fagidn sfuer
(Z)Wmm.
(3) wifeden SR

(4) wra R

75.@Eﬁaﬂﬁmmuﬁmmﬁaﬁﬂﬁr?
(1) St efea Ho
(2) AR FTO
(3) QT Sufeerd et

(4) vmeTER fewhr o

76. @refiieris! TES R FaRe Faomsd guifae T9um 2% Hivwr?
(1) g =
(2) fear o
(3) TF ImM

(4) TT ST
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74. Due to the efforts of Eminent Social activists Anna Hazare, which ri ght has been

passed by the Indian Government?
(1) Right to Relaxation

(2) Labour Rights

(3) Right to Information

(4) Human Rights

75. Which one of the following is the first political work of the citizen?
(1) to bring about people togethar

\/(Zﬂto/oaste a vote
(3) to be present at meeting conducted

(4) to comment on the government

Ty
é}'\nch of the following is not part of the consumer's Redressal Agencies'?

The taluka Forum

(2) The district Forum
(3) The State Commission

(4) The National Commission
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1.

78.

79.

80.

TEETEre HEA HIVTH FIEE eEe?
(1) o=t

(2) feer seo=1 firetreroman =aait

(3) THATTEEA AR FHIOMA el

(4) FUTHI

S ICE G IR R e bl | GO i SRR
(l)m@ﬁaw

(2) @ fredren g 9@

(3) F g

(4) T ST

Wefleis! AFar STceede T HIvwl?
(1) wreremet (2)

(3) TEn (4) W=

(1) SucTe |eA aruften aRgel aTqR el S e

(2) SUSEY T FERiER a7 areal.

(3) FrEFErRET Ul TR S AihSE i 6.
(4) TS AHHEAT Y SHEAA T

|NT$MS-SAT-SL [ X| S15 |
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77. Who will be benefited during Inflation?

(1) Debtors

(2) A person with steady Income

V(/?'){person infesting in equities

(4) Creditors

78. Monetary measures to control inflation is

(1) Reduction in Public expenditure

(2) Increase in cash reserve ratio

\/ﬂﬁ;crease in taxes

(4) Surplus budget

79. Which of the following is extremely necessary for men?

(1) Car

(3) Fan

__(2) Health

(4) Furniture

80. Identify the statement which relates to 'optimum population'?

(1) Available resources are not used enough

(2) Creates stress on available resources

(3) Population is not enough to consume resources completely

\WS ideal size of population of a country.
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81. 1oﬂ3wwmﬁwﬁrﬁ#@iﬂ14ﬁmmﬁ3m?
mmn (2) 72
373 (4) 74

82. x'+2V2x—6=071 SGHIHOME T HIOw?
(1) -3v2,42 (2) 32,-242
(3) 3,2 4) 3,242

83. wH FEame) fafay adiat @ el WhH AR el SR, SRSl
T 10000 & 3ae T oo @ Foret wwd fad?

Iq4
160°
100°
o Foregor
R 30°
20°
=
T
(1) 320,000 (2) 332,000
(3) 72,000 (4) 330,000
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81. How many numbers between 10 to 300. When divided by 4, leave remainder 3? %

0
‘/«4 ;g;ﬁ?;(z)n o B 5 &
Claior o /)4' M @7 A \?4“‘2%_
_4@%@ \‘5.._@_;4
82. Which of the following are the roots of the quadratic equation x* +2y2x-6=0?
A 3. @ 1328 g, (‘(’/‘-},Rydix
. 4) 3,2 )9\3":\23; wn°

b

0 g,ﬂirﬁw ¢
83. The expenditure incurred on different items in a family is shown in the adjgeent
pie diagram. If the amount of house rent is ¥10,000 then find the amount incurred

on education.
é6@0 > i@/@@g .
loo*r 10086X1%

367"
- e O _
0 .o/& -

(1) tzo,ooogf ' /\@% 74000 (2) 32,000 %fw 360
| NS
(3) ?gz,ooo 9 (4) 230,000 \?ﬁ f,@@f

> 4 e
. T
3 65 ;



u.wwmmmmmmmmmmlsf«ﬂ@m

8s.

G ¥ SR IR FOAWE MEH 2 TE FH GO AFA. SR MEN AN qwf 5

fFft 3 St Hen W AW HR I TGS ME | A A AN A TR M

mﬁ iR fweft?
(1) 120 it
) 240 fesh
(3) 360 fsh

(4) 400 et

(5+42)(5.+ 43~ T6) = o
1) 3 |
Q) ¥

B3) &

@) ¥
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oPY .
84. A tram travels some distance at a constant specd If the speed of the train would
'FE" [ g r \. T
have increased by ISkm/hr then it would have requxted 2 hours less. But if the
speegmf the train would have decreased by Skm then to cover the same dlstance

it would have required 1 hour more. Find the distance covered by the train.

(1) 120 km = ‘@@A s ohg

by il
(2) 240 km r"‘J/ O e g{( by = & ﬁ/
@ ()CA’\S % )(ri-/

(3) 360 km
(4) 400 km B/ < ’53 70
ﬂ% LAY \Q
85. (V3+2)(Vo+¥4-6)=2 \(;)D\& 3
( : '(]:)'U J‘: ol
s (] g 1
L.

(2) ¥ i F B (M@ Lo

(3) ¥

4) s
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86. ! Yafits geia 12 fusfaeam Jomd wen fea oIER e FErET60 T B

® & em Fwod? | 2ilg
(1) 20 ) (2) 16 C ;
3) 12 _ . 48

87. 1 9 50 o e fedieem FeiA 71 3feod TEdH TF F1E Fed | R foieed
Tem Y@ W SEvarE gueTa fHd? kS ' v
3
1y 2
()10
1
(2 3

1
(3) T

2
4 75

88. s x> + 2x? —ax—lzéiagqﬁm(x—‘i)ﬁwﬁmw 52 3W W a ot

faeit?

11
(1 5 (2) -5
(3)8 (4) -8
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86. The number obtained by adding 12 to a natural number is 160 times of the

multiplicative inverse of that natural number. Find the number. 9 .0 K\

)
1) 20 \ &€ AP
& " Wi T Mig#x '
G120  gf 1’*’\(00 f{s R i X
o x \ ¥ X & 3
g (\g\» 7

87. There-are 50 cards marked with-the humbers }45:50. One card is drawn at

random. What is the probability that number on the card is a prime number?
LB _
@) ﬁz 2

5 Qz \ Lﬂ/

1
3) 4

2
@ 15

88. If the polynomial x> + 2x? — ax —12 is divided by (x — 4) the remainder is 52.

Find the value of '

(1)—12-1- ' ) -5 0

ot - AE
é‘q ; gQ__LM - ,L) < 3
q6-12-4a =52 i q?/
Rh-A-9. o ) T

29 > 4%

. g
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89. I THTMITF THHEONH IHA HAY T FH@e 9a x =t fFa 9fgsd snf D

=4;Dx=: ?‘aﬂammﬁmﬁvﬂ?
() ~4 (2) 4
3) -9 “)9

90. w1 Vi faeaeh waia i gami e T wen 3 famed
e fielt 3R AaE gURY el G&id agash fohdi?

s

arsit wem 0-10 | 10-20|20-30|30—40|40- 50|50 - 60
facaneadt e 30 | 42 50 80 50 | 40
(1) 80 (2) 50

(3) 45 (4) 35

Cos?30° + Cos30° Sin30° + sin®30° ¥

9. Cos’30° — sin’30° = fit?
(11 @) 1
(3) V31 @ 7=
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89. When two simultaneous equations are solved by Cramer's Rule.

We get x =9 and D = 4IfDx-

(1)=4

3)-9

90. Following table gives the number of trees planted

N

@9

._

™ then find the value of m.

L

D

e’ 6”/‘

%

O
/W‘

&
(V2] = Lu

b

i

7the students in‘a school

on 'Environment Day, Observe the table and find mode of the trees planted by

the students.
Number of plants 0-10 [{10-20|20-30(30-40{40-50|50-60
Number of students 30 42 50 80 50 40
(1) 80 Bl S (ji_&d ))LL
(3) 45 %ﬁ

91. Cos?30° + Cos30° Sin30° + sin’30°

Cos’30° — sin’30’
M1 N

@ 7

=2

J’f

Q0-20
\60- 0- 50V

&}3"“

)x\O
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Sec 0 = Cosec 0
?
Cos 0 —Sin 6 ﬁﬁn

92, SR tanO=-1W

(1) 0 | S
(3) -2 ] 4) V2

93. W PQ || 1M AB, 51 5% %am%. o T PQ Ty FAET 3 AR, A x AR fewel?

(1) 3 () -2

(3) -6 ' 4)6

94, /7 . T STHOTE TS YAYHE TS TR TOEHR SO ol fadt?

R

@ 3

71
(3) e

@ 3
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Set O+ Cosec 8

92. If tan 6 >1 then find the value of -
/ Gos 0-5in §
0 Ay 5 \ @)1
e |
G-z @) 2

93. Line PQ || line AB. The slope of line AB is _;_ y—intercept of line PQ is 3. Find

X- Intercept _j_ﬁjj\é—)——;’i—g‘
(B
(1) 3 ' @)=2 "

<

oy
(3) -6 - e 6 (A 12
\/S\W N - _

94. Find the ratio of the volume to total surface area of a sphere of radius /7 cm.

Uz e i "
3 : 5 zC

o} _ e,
@ W gﬁ Lt

A X}g

ﬁ % . (\f_‘ji)
@ 5 _ sk %N
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95.mgano.u:'ﬁ.ﬂaﬁ.eﬂﬁ.mmmmﬂtﬁmaozﬁ.
S faedt Aol Tar wear Ide? o H

(1) 180
(2) 600
(3) 1200

(4) 1800

96. Hieaen aEdd PM LQS @ RNL QS %1 QS d PR '0' faga &%am A (APMO): A
(A RNO) = 1:4 WA (A PQS) : A (A RQS) = ft?

1

M 715

1
23

N

1 Mo S
OF

1 : _
4 3 R
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95. The diameter of the base of a cylindrical metal block is 6.6 ¢cm and its height is

0.4m, How many discs of diameter 2.2 cm and height 0.2 cm can be cut from

this metal block ? o2 %3
/()/180 &6 2 94w

(2) 600

(3) 1200

(4) 1800

0" A (APMO): A (A RNO) = 1:4 then find. e * ‘ ?"),

A (APQS) : A (ARQS)

NTS-MS-SAT-SL | X[ S15 | [59 of 64]




97. s i wafd Wt A 20 ¥ & gD A 10 . S w0 Hrwor dEw
80 IraH. R W PepomEl Steean SopEt et fRd? : 5l

(1) 2465
(2) sv1i0

(3) 1043

@) 15

X

y =

98. '0' %% agF@ AB = BC mZAOD =xamZACB =y ®

1
(1) 3

) 2

¥ b
(3) 4 D 4 . C

1
4) -
()4
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97. The lpngest side of a triangle is 20 cm. and other side is 10 cm. The area of the

triangle is 80 cm?. Find the length of the remaining side of the triangle.

(1) 2v65 | | ,bo/ﬂ:?{ |
(2) 5v10 (S; r

> 7[,])\ @0 bﬁ
3) 1043 0 Y

& 4
4) 15 ‘ép

98. In the adjoining figure 'O’ is the center of the circle AB = BC mZAOD = x and

mZACB = y then find % .

|
(1) 2

e

3) 4

@
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99, Hagen AFdia SWAB = 16 s cDi= 40 ® A (AOCD) : A (AOAB) = fdi?

5
0

2
@y

25
@7

4
4) 55

; :‘t (_}I{IJ

100. G siEda [ ABCD a O] PBCQ wwimys a7 BC = 12 &t @ PR =8

i, W APSB & | rﬂm famet?

(1) 96 =t
(3) 48 =t

S
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99. In the adjoining figure if AB = 16 and CD = 40 then find the ratio of A (AOCD)

:A(AOAB)
s o ¢
(17
2 _
@3 ) 4o
\ﬁ{j : ‘
4 D

v
g
@ o {VXL\O V{)}g

‘Q———— 2 ovo—> j
(1) 96 cm? | ) 72 cm? @qg

_43) 48 cm? (4) 36 cm?
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